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QUESTION 1

iSCSI is best used for _____. (Choose two.) 

A. NAS block services 

B. additional controller pairs to effectively use available bandwidth 

C. minimizing the amount of data transferred over the FCIP link 

D. connecting stranded servers to the SAN 

Correct Answer: AD 

 

QUESTION 2

SAN architecture is created at ______. 

A. the mid level of storage abstraction 

B. the smallest LUN possible in the SAN 

C. the lowest level of storage abstraction 

D. the highest level of storage abstraction 

Correct Answer: D 

 

QUESTION 3

A business continuity strategy for the protection of data can be built on techniques and procedures to _____. (Choose
two.) 

A. avoid data loss 

B. provide Hierarchical Storage Management (HSM) 

C. recover data that has been lost 

D. shrink the backup and recovery window 

Correct Answer: AC 

 

QUESTION 4

What does a Recovery Time Objective (RTO) of three hours indicate as it relates to backup and restore? 

A. Data is restored and the environment is operational within three hours. 
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B. The amount of data lost with backups should not exceed three hours. 

C. The data should be fully backed up and restored every three hours. 

D. Data should be cloned and restored every three hours. 

Correct Answer: A 

 

QUESTION 5

What is a common cause of downtime in a customer\\'s IT application, databases, and infrastructure? 

A. software malfunction 

B. human error 

C. power outages 

D. computer viruses 

Correct Answer: B 
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